7-2 Solving Systems Using Substitution (Part 2)
	Solve using substitution. 

3x + y = 10
Y = -3x + 4


	Solve using substitution. 

5x – 3y = -4

x + y = -4 

	Solve using substitution. 

4x + 2y = 8 
y = -2x + 4 


	Solve using substitution. 

3x – y  = 4
2x + y = 16

	Solve using substitution. 

2x + 5y = -6

4x + y = -12


	Solve using substitution. 

3x – 4y = -5

x = y + 2

	Solve using substitution. 

5x + 6 y = -76
x + 2y = -44


	Solve using substitution. 

-5x + y = 6

2x – 3y = 60


	Solve using substitution. 

6x – 3y =6
y = 2x + 5 


	Solve using substitution. 

Y = 2x +7
Y = 5x + 4

	Harper works at Staples.  Mechanical pencils cost $1.10 each and pens cost $2.35 each.  One day she sold a total of 172 pens and pencils for $294.20.  How many pencils did Harper sell?


	Taylor has 28 coins that are all nickels and dimes.  The value of the coins is $2.05.  Write and solve a system of equations to find the number of nickels and dimes.  


	A rectangle is 4 times longer than it is wide.  The perimeter of the rectangle is 30 cm.  Find the dimensions of the rectangle.  


	Selena has $28.00 in her bank account and begins saving $18.25 every week.  Jehad has $161.00 in his account and is withdrawing $15.00 every week.  When will their account balances be the same?  



